Lecture XLII: \$12.1 The Mean Value Theorem revisited L42 🕕 \$ 12.3 L'Hôpital Rule : Other indeterminate toms 81. L'Hôpital Rule 17 & indeterminacies: L'Hôpital Theorem: Fix a in IR and two functions h, g differentiable in some ofen internal untaining a. Assume that g'(x) = o m this internal except perhaps at x=a. If h(a)=g(a)=o, then: $\lim_{x \to a} \frac{F(x_2)}{S(x)} = \lim_{x \to a} \frac{F'(x_2)}{S'(x_3)} \quad \text{provided the (RHS) limit exists}$ Moreover, if $g'(a) \neq 0$, then $(RHS) = \frac{f'(a)}{g'(a)}$ Obs: (Last Time) The rule applies for a = ± ∞ where lim f(x) = lim g(x) = 0. N >0 large integer. Q, Why is this rule valid? Recall lim <u>hiss-frag</u> is a <u>o</u> indeterminate <u>e</u> = <u>frag</u> if the limit exists. Sowe should expect a connection between derivatives & g indeterminates. We will use the Mean Value Theorem (MVT) & a zemeralization of it. Mean Value Theorem: If f: [9,5] -> IR is continuous on [9,6] & different rable on (a, b), then there exists a < c < b with F'(c) = F(b) - F(a)slop of tongent line at (c, F(c)) through (9, F(n)) & (4, F(b)) Special case : f(a) = f(b) monor Rolle's Theorem. Generalized MVT : firm 2 functions f & g with : (1) f & g antinuous on [9,6] (2) he g differentiable m (a, b) with g'(x) to frall x in (a, b) there exists c in (a,b) with $\frac{F(c)}{S'(c)} = \frac{F(b)-F(a)}{S(b)-S(a)}$ · Usual MVT: Take S = X · Observe: S(b) # S(a) since Aluntise g would have a citical point in (9,5) & this cannot hoppen because of does not vanish on (9,5)

$$\frac{9}{2000} \underbrace{g \text{ GHVT}}_{F(x)} \text{ ble consider the auxiliary function};$$

$$F(x) = (F(b) - F(a)) (g(x) - g(a)) - (g(b) - g(a)) (F(x) - F(a))$$
• F intervenues in Eq. 5) & differentiable in (q,b)
• F(a) = 0 - 0 = 0
F(b) = 0 $f(b) = F(b)$.
Rolle's Theorem ensures that we can find c in (q,b) with $F'(c) = 0$.
But $F'(x) = (F(b) - F(a)) g'(x) - (g(b) - g(a)) F'(c)$
 $S_0 = F'(c) = 0 \text{ pines } \frac{F'(c)}{g'(c)} = \frac{F(b) - F(a)}{g(b) - g(a)}$ as we wanted. \square

• Next, we use Generalized MVT to antim L'Höjital's Rule: We have to analyze 2 cases :

$$\frac{CASE 1}{N} \quad Assume \quad S'(a) \neq 0$$

$$Then \quad \frac{h(x)}{S(x)} = \frac{h(x) - h(a)}{S(x) - J(a)} = \frac{\frac{h(x) - h(a)}{x - a}}{\frac{g(x) - J(a)}{x - a}} = \frac{\frac{h'(x)}{x - a}}{\frac{g(x) - J(a)}{x - a}} = \frac{\frac{h'(a)}{g'(a)}}{\frac{g(x)}{x - a}}$$

$$= \frac{\frac{h'(x) - h(a)}{g'(a)}}{\frac{g(x)}{x - a}} = \frac{\frac{h'(a)}{x - a}}{\frac{g(x) - J(a)}{x - a}} = \frac{\frac{h'(a)}{g'(a)}}{\frac{g(x)}{x - a}}$$

$$\frac{f'(a)}{g'(a)} = \frac{f'(a)}{g'(a)} = \frac{f'(a)}{g'(a)} = \frac{f'(a)}{g'(a)}$$

$$\frac{f'(x)}{g'(x)} = \frac{f'(a)}{g'(x)} = \frac{f'(a)}{g'(x)} = \frac{f'(a)}{g'(x)} = \frac{f'(a)}{g'(x)}$$

$$\frac{f'(x)}{g'(x)} = \frac{f'(a)}{g'(x)} = \frac{f'(a)}{g'(x)} = \frac{f'(a)}{g'(x)} = \frac{f'(a)}{g'(x)}$$

$$\frac{f'(x)}{g'(x)} = \frac{f'(a)}{g'(x)} = \frac{f'(a)}{g'(x)} = \frac{f'(a)}{g'(x)} = \frac{f'(a)}{g'(x)}$$

$$\frac{f'(x)}{g'(x)} = \frac{f'(a)}{g'(x)} = \frac{f'($$

GOAL Extend L'Hôpital's Rule from of to other indeterminacies. 0.00, 00-00, 00, 00, 00, 100 ($\frac{\infty}{\infty}$ is a special me!)

$$\frac{\Gamma Y F G I}{TY G Z} = 0 \quad (x parati growf!)$$

$$\frac{\Gamma Y F G Z}{TY G Z} = 0 \quad oo , \quad o^{0}, \quad o^{0}, \quad o^{0}, \quad o^{0} - \infty \quad (follow from 0) = x \quad oo \quad use is a different in a different in$$

(3)
$$\lim_{X \to \infty} x^{\frac{1}{X}} = \frac{2}{3}$$
 $\infty^{2} \lim_{X \to \infty} \frac{1}{2} \ln x = \frac{1}{2} \lim_{X \to \infty} \frac{1}{2} \ln \frac{1}{X} = \frac{1}{2}$
Take $\ln :$ $\lim_{X \to \infty} \ln(x^{\frac{1}{X}}) = \lim_{X \to \infty} \frac{1}{2} \ln x = \lim_{X \to \infty} \frac{1}{2} \lim_{X \to \infty} \frac{1}{1} = 0$
So $\lim_{X \to \infty} x^{\frac{1}{X}} = e^{2} = 1$
(3) $\lim_{X \to 0} (1+ax)^{\frac{1}{X}} = \frac{2}{17} a \neq 0$ $1^{\infty} \lim_{X \to 0} \frac{1}{16} \ln(1+ax) = \lim_{X \to 0} \frac{1}{16} \ln(1+ax) = \lim_{X \to 0} \frac{1}{16x} \ln(1+ax) = \lim_{X \to 0} \frac{1}{16x$

with $g'(x, \neq 0)$ frade $x \neq a$ man a. If $\lim_{x \to a} F(x) = \lim_{x \to a} g(x) = \infty$, then $\lim_{x \to a} \frac{F(x)}{g(x)} = \lim_{x \to a} \frac{F'(x)}{g'(x)}$ provided the (RHS) limit exists This rule applied to a in TR & also if $a = \pm \infty$. Swarf: Next time.